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2TASK 2 CALCULATING DEPRECIATION
AND INVENTORY CHANGES    
Calculating Depreciation
'HSUHFLDWLRQ�LV�GHîQHG�E\�WKH�,QWHUQDO�5HYHQXH�6HUYLFH�DV�qDQ�DQQXDO�DOORZDQFH�IRU�WKH�ZHDU�DQG�WHDU��GHWHULRUDWLRQ�RU�REVROHV-
cence of the property.” Most types of tangible property are depreciable, such as buildings, machinery, vehicles and equipment, but 
land is not. When estimating depreciation, the Center for Farm Financial Management suggests using 10 percent per year of the 
SXUFKDVH�SULFH�RI�PDFKLQHU\�DQG�HTXLSPHQW�����SHUFHQW�SHU�\HDU�RI�WKH�SXUFKDVH�SULFH�RI�WLWOHG�YHKLFOHV��DQG���SHUFHQW�SHU�\HDU�RI� 
the purchase price of buildings and other improvements. Use the table below to estimate the total value of depreciation for your 
farm assets. You will use this information when compiling farm expenses. A spreadsheet is available to assist with these calcula-
tions at http://misadocuments.info/OrganicTransitionPlanner_spreadsheets.xlsx.
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%

Depreciation 
Expense  

$

+ + - = * =
Machinery (a) 10% (0.1)

Vehicles (b) ����������

Buildings (c) ���������

Breeding livestock  
replacements (d)

Total Depreciation  = (a+b+c+d)

Calculating Inventory Changes
Inventory changes affect net farm income and should be accounted for each year. Use the space below to record the value of in-
ventory at the beginning of the year and at the end of the year. Subtract the ending inventory value from the beginning inventory 
YDOXH��<RX�ZLOO�EH�DVNHG�WR�DGG�RU�VXEWUDFW�WKH�îQDO�FKDQJH�LQ�LQYHQWRU\�ZKHQ�FDOFXODWLQJ�QHW�IDUP�LQFRPH�RQ�Worksheet 2T.14: 
Current Income Statement.

Beginning Inventory  
$

Ending Inventory  
$

Ending–Beginning Inventory 
$

Crops and feed (a)

Livestock held for sale (b)

Accounts receivable (c)

Hedging accounts (d)

Other inventory (e)

Prepaid expenses and supplies (f)

Growing crops (g)

Inventory change (h) = (a+b+c+d+e+f+g)

Accounts payable (i)

Accrued interest (j)

Inventory change (k) = (i+j)

TOTAL INVENTORY CHANGE = (h-k)

WORKSHEET 2T.16
DOWNLOAD THE PDF
:RUNVKHHW��7�����&DOFXODWLQJ�'HSUHFLDWLRQ�DQG�
,QYHQWRU\�&KDQJHV��http://misadocuments.in-
IR��7���&DOFXODWLQJ'HSUHFLDWLRQDQG,QYHQWRU\�SGI)

25% (0.25)

www.misa.umn.edu/Publications/OrganicTransitionPlanner/spreadsheets
http://misadocuments.info/2T.16CalculatingDepreciationandInventory.pdf
http://misadocuments.info/2T.16CalculatingDepreciationandInventory.pdf

	Total Depreciation   abcd: 0
	Total Depreciation   abcd_2: 0
	Total Depreciation   abcd_3: 0
	Total Depreciation   abcd_4: 0
	fill_26: 
	a1: 
	a2: 
	a3: 
	MachineryValue: 0
	aDeprec: 0
	b1: 
	b2: 
	b3: 
	VehiclesValue: 0
	bDeprec: 0
	c1: 
	c2: 
	c3: 
	BuildingsValue: 0
	cDeprec: 0
	d1: 
	d2: 
	d3: 
	dDeprec: 0
	TotalDepreciation: 0
	BeginningInventoryTotal: 0
	EndingInventoryTotal: 0
	changea: 0
	aB: 
	bB: 
	aE: 
	changeb: 0
	bE: 
	cB: 
	cE: 
	changec: 0
	dB: 
	dE: 
	changed: 0
	eB: 
	eE: 
	changee: 0
	fB: 
	fE: 
	changef: 0
	gB: 
	gE: 
	changeg: 0
	changetotal: 0
	iB: 
	iE: 
	changei: 0
	jB: 
	jE: 
	changej: 0
	kB: 0
	kE: 0
	changek: 0
	TOTALCHANGEB: 0
	TOTALCHANGEE: 0
	TOTALCHANGE: 0
	Breedingvalue: 0


